
 

  

 

 

M.Com. DEGREE EXAMINATION –  
JANUARY, 2015. 

First Year 

ADVANCED BUSINESS STATISTICS 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the scope of measures of dispersion. 

 £μÁ»õUP ÁÈ•øÓ £ØÔ ÂÍUS. 

2. Explain the significance of coefficient of 
regression. 

 Regression ]Ó¨¤¯À¦PÒ Á›ø\¨£kzxP? 

3. In Zeethal manufacturing company producing 
razor blades and there is a small chance of 1/50 for 
any blade to be defective. The blades are placed in 
packets, each containing 10 blades. Using Poisson 
distribution, calculate no. of packets containing 
not more than 2 defective blades in a consignment 
of 10,000 packets. 
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 ãzuÀ EØ£zv {ÖÁÚ® ÷μ\õº ¤÷»kPøÍ 

u¯õ›UQÓx. 50–À JßÖ SøÓ²øhuõP C¸UQÓx. 

JÆöÁõ¸ ÷£UöPmi¾® 10 ¤÷»kPÒ öPõskÒÍx 

10,000 ÷£UöPmiÀ CμsiØUS® AvPªÀ»õu 

SøÓ£õkøh¯. ¤÷»kPøÍ öPõskÒÍ 

÷£UöPmkPÎß GsoUøPø¯ £õ´\õß £μÁø» 

£¯ß£kzv PnUQkP. 

4. In 600 throws of a six–faced die, odd points 

appeared 360 times. Would you say that the die is 

fair at 5% level of significance? 

 600 •øÓ 6 Cøh©mh ¦ÒÎø¯ GÔu¼À 

Gvº©õº¦øh ¦ÒÎ 360 •øÓ ö£Ó¨£mhx. HØ£mh 

|mh® 5% Gß£uß Ai¨£øh°À PnUQkP. 

5. Test whether the ave yield of land under different 

varities of seeds show significant difference using 

ANOVA. 

A 20 21 23 16 20 

B 18 20 17 15 25 

C 25 28 22 28 32 
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 A÷ÚõÁõ •øÓ°À ¤ßÁ¸ÁÚÁØøÓ PshÔP. 

A 20 21 23 16 20 

B 18 20 17 15 25 

C 25 28 22 28 32 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain multiple regression analysis? 

 ö£¸US öuõøP JmkÓÄ GßÓõÀ GßÚ? 

7. State the properties of normal distribution. 

 \μõ\› |øh•øÓ¨£¯ß£õk GßÓõÀ GßÚ? 

8. The following table gives the frequency 

distribution of marks. Calculate the arithmetic 

mean. 

C.I : 0-5 5-10 10-15 15-20 20-25 25-30 30-35 

F : 5 10 14 20 35 15 1 
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 ¤ßÁ¸® uPÁø»U öPõsk Tmk \μõ\›ø¯ 

PnUQkP. 

C.I : 0-5 5-10 10-15 15-20 20-25 25-30 30-35 

F : 5 10 14 20 35 15 1 

9. Calculate the correlation co–efficient between the 
heights of Fathers and Sons. 

Heights of Fathers : 64 65 66 67 68 69 70 

Heights of Sons : 66 67 65 68 70 68 72 

 ©Pß u¢øu C¸Á›ß E¯μzvøÚ JmkÓÄ ‰»® 

\›£õº 

u¢øu°ß E¯μ® : 64 65 66 67 68 69 70 

©PÛß E¯μ® : 66 67 65 68 70 68 72 

10. A large no. of measurements is normally 
distributed with a mean of 65.5 ‘‘& S.D 6.2’’. Find 
the percentage of measurement that fall between 
54.8 ‘‘.& 68.8’’. 

 }shPõ» AÍÄ •øÓ°À ©mk 65.5 ©ØÖ®  

vmhÂ»UP® 6.2 £μÁ»õUP •øÓ°À 54.8 ©ØÖ® 

68.8 Gß£uß Ai¨£øh°À PnUQkP. 
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11. The following data show weekly sales of a 

manufacturer before and after recognition of sales. 

10 weeks from Sept to Dec, in two successive years 

were selected for comparison carryout t test. 

Week No : 1 2 3 4 5 6 7 8 9 10 

Before : 15 17 12 18 16 13 15 17 19 18 

After : 20 19 18 22 20 19 21 23 24 24 

 ¤ßÁ¸® 10 ÁõμzvØPõÚ ÂØ£øÚ uPÁÀPøÍU 

öPõsk ‘t’ Test øÚ £¯ß£kzv ÷ÁÖ£õmiøÚ 

PnUQkP 

Áõμ Gs : 1 2 3 4 5 6 7 8 9 10 

•ß : 15 17 12 18 16 13 15 17 19 18 

¤ß : 20 19 18 22 20 19 21 23 24 24 

12. In an experiment on the immunization of goats 

from anthrax, the following results were obtained. 

Derive your inference on the vaccine. 

 Died of 

Anthrax 

 Survived  Total 

Inoculated 

with Vaccine 

2  10  12 

Not inoculated 6  6  12 

Total 8  16  24 
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 RÌPsh ÷\õuøÚ •øÓ •iÂøÚU öPõsk 

B¢vμõUì uk¨¦ ©¸¢vß vÓøÚ Bμõ´P. 

 Died of 

Anthrax 

 Survived ö©õzu®

with 

öÁÎ°h¨£mh 

Âø» 

2  10  12 

Not 

öÁÎ°mh£h 

6  6  12 

Total 8  16  24 
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